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[bookmark: _Ref54129494]Introduction
In RAN1#104e, the following agreement was made:

Agreement
The number of soft channel bits is calculated based on the equation:
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Working Assumption: N=8

This document considers the working assumption and proposes that the working assumption is confirmed.

Discussion
The FL summary for the agenda item on support for a DL TBS of 1736 bits [1] indicates that the following are aspects that influence the choice of ‘N’:
· Hardware impact
· Performance impact
· Logic / precedent (if N=8 was used in the “10 HARQ process” feature, then why wouldn’t we do the same now?).

Hardware impact. The hardware impact is lower if fewer soft channel bits are required. Hardware impact is clearly minimized if ‘N’ = 8.
Performance impact. If eMTC is operated with 8 HARQ processes, there is no performance degradation from dimensioning the number of soft channel bits on 8 HARQ processes. 
It is also possible to operate eMTC with 10 HARQ processes (in Rel-14) or with 14 HARQ processes (in Rel-17). There is very low likelihood of more than 8 HARQ processes being NACK-ed at the same time even when the system employs 10 or 14 HARQ processes. Hence, there is very seldom a requirement to buffer more than 8 HARQ processes. Dimensioning the soft buffer size based on 8 HARQ processes should hence have marginal impact on performance.
Precedent. When the “10 HARQ processes” feature was introduced in Rel-14, the soft buffer size was not increased beyond that required for 8 HARQ processes. There is no need to dimension the soft buffer size based on a larger number of HARQ processes in Rel-17 just because the DL TBS is increased to 1736 bits.

The analysis above leads us to the conclusion that the working assumption should be confirmed.
Proposal: Confirm the working assumption that ‘N = 8’ is used in the equation to calculate the number of soft channel bits for a DL TBS of 1736 bits. 

[bookmark: _Hlk47387515]Conclusions
This document has considered the working assumption from RAN1#104e that ‘N = 8’ is assumed when deriving the number of soft channel bits for a DL TBS of 1736 bits. It is proposed to confirm this working assumption.
Proposal: Confirm the working assumption that ‘N = 8’ is used in the equation to calculate the number of soft channel bits for a DL TBS of 1736 bits. 
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